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Instructions to Learners.

                 Answer all the Questions.

1. What is 6085307 written in words?

2. What is the total value of digit 1 in the difference between nine million and eight thousand and seventy six?

3. Use a number line to work out 3 - 8 (1 mk)

4. Martin read ½ of a storybook on Monday, ¹/₃ on Tuesday and the rest on Wednesday.

A. What fraction did he read on Monday and Tuesday? (1 mk)
B. What fraction did he read on Wednesday? (2 mks)
5. A man earns a salary of sh. 36 000 per month. He spends ¹/₈ of it on rent, ¹/₄ of the remainder on school fees and saves the rest.

A. How much is spent on the rent? (1 mk)
B. How much is spent on school fees? (2 mks)
C. How much does he save? (2 mks)
6. a. Identify a recurring decimal among the following; ¹/₄, 1½, ⁵/₂₂, ³/₈ (2 mks)

· b. Write the recurring decimal correct to three decimal places. (2 mks)
· c. Write the recurring decimal using the decimal notation. (1 mks)
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7. Albert used                    litres of petrol to run a machine. Write the amount of petrol used as a fraction in the simplest form. (2 mks)
8. Zoe harvested 14.8239 kg of wheat. Round off the figure to the nearest hundredths? (2 mks)

9. Grade 8 learners in St. Monica preparatory school were discussing how to write numbers to a specific significant figure. How are the following numbers written correct to two significant figures.

A. 4.2869 (1 mk)
B. 0.00346 (1 mk)
C. 18629 (1 mk)

10. Write in standard form

A. 6429 (1 mk)
B. 0.00496 (1 mk)
C. 148.3 (1 mk)

11. 
Work out: (2 mks)

4.2 ÷ 0.07 + (3.6 x 0.4)

12. Use the tables of squares to find the square of the following numbers.

A. 5.326 (1 mk)
B. 0.0394 (2 mks)
C. 108.2 (2 mks)
13. Use the square root table to solve.

A. √48.69
B. √8643
C. √0.00414
14. a. Express ³/₄ as a ratio. ( 1mk)

b. Simplify 3 hours to 600 minutes an express in ratio form (2 mks)
c. A farmer harvested 80 bags of maize and 50 bags of beans. Write the ratio of the bags of beans to that of maize in the simplest form.
15. Use N:1 to compare which ratio is greater between 3:4 and 4:5 (2 mks)
16. A farmer had 120ha of land. He shared the land among his three children Ben, Caleb and Nigel in the ratio 2:3:5 respectively.

A. How many hectares did Caleb get? (2 mks)
B. How many more hectares did Nigel get than Ben? (2 mks)
17. Decrease sh 1000 in the ratio 4:5 (2 mks)
18. The price of a dress increased from sh 850 to sh 1000. What was the ratio increase? (2 mks)

Marking scheme
1. Six million eighty five thousand three hundred and seven.

2. 1000
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3. a. ⁵/₆
· ¹/₆
4. a. Sh. 4500

· Sh. 17 875

c. Sh. 23 625

5. a. ⁵/₂₂
· 0.227
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6. ⁵/₃₃
7. 14.82

8. a. 4.3

· 0.0035

· 19000

9. a. 6.429 x 10³

· 4.96 x 10⁻³

· 1.4832 x 10²

10. 61.44

11. a. 28.366

· 0.0015524

· 11660

12. a. 6.928

· 92.968

· 0.414

13. a. 3:4

· 3:10

· 5:8

14. 4:5 is greater

15. a. 36 ha

· 36 ha

16. 800

17. 20:17

